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1.  a)  
 A  -  Trachea


B  - Bronchus


C – Pleural membranes


D – Bronchioles 

b) Reduce friction making the lungs to move freely in the chest cavity

c) -   Moist

· Highly supplied with blood capillaries

· Enclosed by thin membrane

· Numerous – large surface area

d) prevent it from collapsing during breathing

2.    a)  
-  Integration of sensory impulses such as vision, hearing and taste;



-  Controls voluntary body movements e.g. limbs, lips and neck;



-  Controls learning memory and human individuality;

              (3 mks) 
    b)  (i)   Cerebrospinal fluid;







    (1mk) 
(ii) - Provides nourishment (to brain tissues);

- Serves as a shock absorber from mechanical damage;

any 1 correct       (1mk) 
       (iii) Arachnoid layer; 








    (1mk) 
(iii) -  The dura matter – tough outer most membrane;

-  The pia matter – inner most membrane;




      2mks*BND *
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b)   (i)   A  - X Chromosome;

(ii)  High chances of crossing over; mixing of genes for male and female lower chances of being   homozygous for recessive characteristics that are harmful;

c)   
Improvement of quantity and quality;


Improvement of resistance to disease and pests;

4.   a)  denature – change in protein structure so that some of its original properties/configuration stop functioning;

     b.      (i)   Optimum  temperature 36 + 1;


  (ii)  At 45º C time taken is more than at 35º C because the enzyme/ pepsin is being denatured;

     c.      (i)   Pepsinogen;

        
(ii)  digest stomach/ digest lumen in its active form (pepsin) in absence of protein food;

d)     epidermal tissue

parenchyma;

Schlerenchyma;

Xylem tissue;

Collenchyma;

e) Provides surface on which food /grass is pressed and cut:

5.   
a.     K.   -  Root hair;


       L – xylem vessel;







         (2mks) *BND *


b)   


-   Water moves from the soil into the root hair by Osmosis;


-  Because concentration of cell sap is higher than water in the soil;


- The cell sap in the root hair get diluted;


-  Thus making it less concentrated than neighbouring cell;


-  Therefore water moves into the neighbouring cells;


-  It is actively separated into structure L;



              (max  5 mks) *BND *

c) Active transport

  acc diffusion 

6.  a)  
Axis  - 1


Scale  - 2


Plotting  - 2


Curve  - 2


Label  - 1 

                        8 mks

b)  (i)   Blood glucose rose; (to over 100 mg/100 ml/ to about 120 mg/ 100ml) glucose is absorbed from the gut/liver has not yet converted excess glucose to glycogen;



            2mks*BND *

(ii)   Blood glucose declines to normal level/ about 85 mg/100ml; due to excess glucose being converted into glycogen; which is influenced by insulin; some of the glucose is used for respiration/ metabolism  












             4 mks*BND *

c)   The person is (severely) diabetic (mellitus) hyperglycemia; due to lack of insulin/ pancrease damaged; glucose is not converted to glycogen; the slight fall is due to excretion;

          (4 mks) *BND *

d)   (i)   C;









                1 mk*BND *

      (ii)  B;









                 1mk*BND *

7.   (i)   Xerophytes

· Root extensively developed; to provide large S. A

· root grow deep/ long roots; to reach water source deep in the ground;

· succulent/ possession of water storage tissues; to store water / to survive drought;

· possession of thick waxy cuticle; to reduce rate of transpiration;

· hairy leave;

· sunken stomata;

· reduced leave sizes / spines/ scales/ thorns/ needle like/ reduced number of stomata;

· rolled leaves/ folded leaves shedding leaves;

· reversed stomata rhythm

· short life cycle/ quick growth after rains; to make use of the available water quickly;

                    max 13 mks*BND *

(ii) Hydrophytes

· Air spaces/ large intercellular spaces/ aerenchyma tissue/ long fibrous roots;

· For buoyancy to float in water/ mineral absorption

· Poor developed conducting tissues/ xylem and phloem;

· Plants obtain water by diffusion.

· Poor developed supporting tissues/ schlerenchyma;

· Because water provides the necessary support

7.         -  Upper epidermis of leaves have more stomata than the lower epidermis;

- for gaseous exchange/ for increased (rate of) transpiration;

                      max  7 mks*BND *

8.    
The penis: it is spongy with large spaces that becomes gouged with blood causing it to erect;

The glans of the penis is highly sensitive due to nerve supply; and during copulation it is easily stimulated to bring about erection and ejaculation;

The penis is highly supplied with blood capillaries; that supply enough blood to the spongy spaces for erection;

The scrotum; is a sac like skin that suspends the testis outside the body at a lower temperature  than that of the body  ideal for spermatogenesis; the testis; contains numerous seminiferous tubules that nourish the sperms until they become mature; the epididymis; is long and coiled; to provide a large surface area for temporary storage of sperms;

The vas deferens; is muscular and upon contraction of its muscles it pushes sperms out and allows ejaculation;

The accessory glands like seminal vesicles; cowpers gland; and prostrate glands; provided fluids / seminal fluids that nourish spermatozoa; and provide it with a suitable swimming medium; 
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